X7 4 7 2 IEHEZT

HRIG =
December 1, 2021

1 NT1T7VDES

2n RO RAFMTHN Q = () ZE Z 5. {0} ZRIEHAIZ 1B L.

ni=0"NOP*A--- NG
&5 %, 2B

wi=Y Q6" A

i<j
LT,
W'=wAwA - Aw=nlPf{(Q)n

TN Q DT 4 72 PE(Q) ZERT %o

2 P{(IMQM) = det(M)P£(Q)
M = (M%) % 2n XRDATHI & L
0= M0,
7i=0"NO>N - NG,
w0 = Z Qljél N

1<j

e35 e, AR OME LD,

THs, £

(1.1)

(1.2)

(2.4)

(2.5)



72 DT,
Pf(Q) = Pf('MQM) = det(M)Pf(R) (2.6)

2155,
B2, Q=Q%5 det(M)=1Td 5,
FEERTIX, J = 01‘ 1”) WX LTy tMJIM = J 2735118 M B8HN %, 2

det(M) = 1 {723



